MIAMIDADE MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 3752901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Southern Metal Products, LL.C d/b/a
All Broward Hurricane Panel, Inc.
450 West McNab Road

Ft. Lauderdale, Florida 33309

Scopk:
This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted

by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHT).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: ASSA / Extruded Aluminum Bertha Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 06-250, titled “ ASSA / Extruded Bertha Bahama Shutter ”, sheets 1
through 9 of 9, prepared by Tilteco, Inc., dated October 24, 2006, last revision #1 dated October 26, 2006, signed
and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-Dade County Product Control Revision stamp with the
Notice of Acceptance number and Expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises & renews NOA # 03-1027.06 and consists of this page 1, evidence submitted pages E-1, E-2,
& E-3 as well as approval document mentioned above. '
my A. Makar, P.E., ML.S.
y gc 4 /% NOA No 06-1026.03

. Expiration Date: 03/04/2012

Approval Date: 03/29/2007

03/2.9/1007 PP Page 1




Southern Metal Products, LLLC d/b/a

All Broward Hurricane Panel, Inc.

1.

A.

B.
C.

D.

E.

[ 3]

1.

,1

1.

1.

1.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #98-1223.11
DRAWINGS

Drawing No. 98-200, titled “ASSA/Extruded Bertha Bahama Shutter”, prepared by
Tilteco Inc., dated August 13, 1998, sheets I through 8 of 8, signed and sealed by
Walter A. Tillit, Jr., P.E.

TESTS
See Association’s generic approval number 98-0090.

CALCULATIONS
See Association’s generic approval number 98-0090.

MATERIAL CERTIFICATIONS
See Association’s generic approval number 98-0090.

STATEMENTS
Release letter issued by the American Shutter Systems Association, Inc., dated December
16, 1998, certifying this product to meet the criteria of product tested and approved, and
allowing All Broward Hurricane Panel, Inc. to use the test results approved under
Miami-Dade County Approval No. 98-0090, signed by Mr. John J. Cooper.
Acknowledgment letter by All Broward Hurricane Panel, Inc., dated December 8,
1998, signed by Mr. LeRoy A. Peterson.

Letter by Tilteco Inc., dated December 17, 1998, certifying that the drawing (No. 98-
200) prepared for All Broward Hurricane Panel, Inc., signed and sealed by Mr.
Walter A. Tillit, Jr., P.E., is engineering wise identical to ASSA’s generic drawing
(No. 97-229).

Letter issued to Mr. Alfred W. Roettger on February 18, 1999 and returned signed by
Mr. Alfred W. Roetiger on February 22, 1999, indicating to please issue the proposed
Notice of Acceptance as submitted and reviewed.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #02-0215.10
DRAWINGS
1. None.

TESTS
1 None.

CALCULATIONS
1. None.

;/Vé»mé//%/;w

myA Makar, P. E., M..S,
Product Control Exammer
NOA No 06-1026.03
Expiration Date: 03/04/2012
Approval Date: 03/29/2007



Southern Metal Products, L1.C d/b/a

All Broward Hurricane Panel, Inc.

w

S

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

MATERIAL CERTIFICATIONS
1. None.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #02-0502.06
DRAWINGS
I None.

“TESTS

1 None.

CALCULATIONS
1 None.

MATERIAL CERTIFICATIONS
L None.

STATEMENTS

1. Acceptance Letter issued to Mr. John Pisz on May 15, 2002 and returned signed
by Mr. John Pisz on May 16, 2002, indicating to please issue the proposed Notice
of Acceptance as submitted and reviewed.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #03-1027.06

DRAWINGS

1 Drawing No. 03-024, titled “ ASSA / Extruded Bertha Bahama Shutter ”, sheets 1
through 8 of 8, prepared by Tilteco, Inc., dated February 4, 2003, last revision #2
dated October 18, 2003, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. See Association’s generic approval number 03-0114.

CALCULATIONS
1. See Association’s generic approval number 03-0114.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. See Association’s generic approval number 03-0114.

}/Mﬁm\

elmy A. Makar, P. E., M.S.
Product Control Exammer
NOA No 06-1026.03
Expiration Date: 03/04/2012
Approval Date: 03/29/2007



Southern Metal Products, L1.C d/b/a

All Broward Hurricane Panel, Inc.

>

I

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

STATEMENTS
Letter by Tilteco Inc., dated October 15, 2003, signed and sealed by Mr. Walter A.
Tillit, Jr., P.E., certifying that the drawing (No. 03-024) prepared for All Broward
Hurricane Panel, Inc., is the same as drawing (No. 98-200) except revising General
Notes #1 & #9 to reference the Florida Building Code and the ASCE 7-98.

NEW EVIDENCE SUBMITTED

DRAWINGS

1 Drawing No. 06-250, titled “ ASSA / Extruded Bertha Bahama Shutter ', sheets 1
through 9 of 9, prepared by Tilteco, Inc., dated October 24, 2006, last revision #1
dated October 26, 2006, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. See Association’s generic approval number 05-0237.

CALCULATIONS
1. See Association’s generic approval number 05-0237.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. See Association’s generic approval number 05-0237.

STATEMENTS

1. Letter by Tilteco Inc., dated October 26, 2006, signed and sealed by Mr. Walter A.
Tillit, Jr., P.E., certifying that the drawing (No. 06- -250) prepared for Southern
Metal Products LLC d/b/a All Broward Hurricane Panel, Inc., is the same as
drawing (No. 05-094).

Yol J AL~

Hdriy A. Makar, P. E., M.S.
Product Control Examiner
NOA No 06-1026.03
Expiration Date: 03/04/2012
Approval Date: 03/29/2007



GENERAL NOITES:

1. EXTRUDED BERTHA BAHAMA SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P. A. D.)
HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA
BUILDING CODE.

THIS BAHAMA SHUTTER SYSTEM MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.
IN ORDER TO VERIFY THAT ANCHORS ON THIS P.A.D., AS TESTED, WERE NOT OVERSTRESSED, A 33%
INCREASE IN ALLOWABLE LOADS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. HOWEVER, FOR
lééic?‘/\fggWS INTO WOOD, A 1.60 WIND LOAD DURATION FACTOR WAS USED TO CALCULATE SCREWS
EXTRUDED BERTHA BAHAMA SHUTTER'S ADEQUACY FOR HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTION 1609.1.4 OF THE ABOVE MENTIONED CODE AS PER ATL REPORTS #0923.01-97 AND
#0309.01-04 AS PER PROTOCOLS TAS-201, TAS~202 AND TAS—-203.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063~T6 ALLOY AND TEMPER, WITH
Fy = 25.0 ksi-MINIMUM (UNLESS OTHERWISE NOTED).— —— ——— ~

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/ 50 ksi YIELD STRENGTH AND 90
ksi TENSILE STRENGTH OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018.

4. BOLTS TO BE ALUMINUM ASSOCIATION 2024-T4 ALLOY AND TEMPER, ASTM A-307 GALVANIZED
STEEL, OR AISI 304 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD STRENGTH.

5. ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE: (Min. f'c=3145 p.s.i.)

— 1/4” @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.

- 1/4" @ x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENERS, INC.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 1/2"

A2) CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED.

1/4" #—-20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST AND 1"
MINIMUM FOR WALLS WITH NO STUCCO.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE

BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
~ 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.
~ 1/4" @ x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENERS, INC.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4".

B.2) CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO
EMBEDMENT INTO STUCCO SHALL BE ‘PERMITTED. 1/4" #-20 SCREWS USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

—CONTACT WITH-THE - BUILDING - TO—PREVENT WIND/RAIN-INTRUSION. CAULK AND SEAL SHUTTER TRACKS

Phone : (305)871~1530 . Fax : (308)871-1531 FORT LAUDERDALE, FL. 33309 06250
Qj} e E} WALTEREE-%TZIG;L? pE PHONE (954) 247~3330 FAX (954) 247-3492 ORAWING No
b TS e B ) Ay REV. No DESCRIPTION oatE | REV. Mo DESCRIPTION DATE
- \B FLORIDA Lic, f 44167 — =
o e . o y » - - -
ey 2 e 2008 © 2004 TILTECO INC. - - = 7 = —— SHEET 1 OF 9

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE AS INDICATED ON NOTES B.1) & B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND
SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. EACH SHUTTER SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE SHUTTER WITH SIDE & SILL BRACKETS DURING PERIODS OF HURRICANE
WARNINGS.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. CONTRACTOR TO

SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN PERMANENT AND CONTINUOUS

ALL AROUND FULL LENGTH. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
WOOD FRAME BUILDINGS.

9. EXTRUDED BERTHA BAHAMA SHUTTER'S INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN
THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION
WHERE PERMIT 1S APPLIED TO.

10. (a) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE

P.A.D. :

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING
LIFE SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D., PROVIDED HE/SHE DOES NOT DEVIATE
FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE

CONTRACTOR’S RESPONSIBILITY.
(c) THIS P.AD. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR
ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO
WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A
DELEGATED ENGINEER TO THE P.A.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC
DRAWINGS FOR REVIEW.

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

11. SHUTTER'S MANUFACTURER LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE

BAHAMA FRAME © OR .
ONE LABEL SHALL BE PLACED FOR EVERY OPENING. LABEL SHALL READ AS FOLLOWS:

SOUTHERN METAL PRODUCTS, LLC d/b/a ALL BROWARD HURRICANE PANEL, INC.

FORT LAUDERDALE, FL.
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

F.B.C.CHigh Velocity Hurricane &one)

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRauny EY:

/ ||L IE COinec. \ SOUTHERN METAL PRODUCTS, LLC d/b/a 10/24/05

TILLIT TESTING & ENGINEERING COMPANY ALL BROWARD HURRICANE P ANELI INC.

6355 MW, 36th, St, Ste. 305, VIRGINIA GARDENS, FLORIDA 33168 450 WEST McNAB ROAD




L4
I—p

&:_.ruci

1562 ]

f—1.160"—{

- 100"

.365"—]
l—1.190"

REGULAR INTERIOR MULLION

6005~T5 Alum. ALLOY

SCALE: 1/2" =
"& f—1,322"—~
"'1_.062"-- ~— - f~-.459
R |
P 1§
f N "
. 8 ‘P',j"’
:% -
o
*—.030'

(E) BAHAMA MALE TOP FRAME

SCALE: 1/2" =

_.062"
G

3.293".
3.938"

2.000"
—{ .625~ "—
1

070"~
T—

. 157J
—m1.125"

() HALF_SHUTTER
BLADE

SCALE: 1/2" = 1"

—1 .645"

2.500"

782" -

r“—ﬂh——. 120"

:

1.892"
1.362"
1.160"

-

i
l—1.190"—=1

HEAVY INTERIOR MULLION

6005-T5 Alum. ALLOY

SCALE: 1/2" =

F) SNAP_CAP

SCALE: 1/2" =

302"
o
:‘: ';!: - ‘—.055‘ Ag,
LT ¥
I )
%
8 >
-eao
7959”——1 T,
L=}
2.374" S

FEMALE HINGE

SCALE: 1/2" =
.080" ] f=— e 1, 080"
085"~} 085"
1N . io
13
ﬁ 8 270" 2 g J =
g. “‘l 270 . Y ~ (=270 a
T 2 i
5 < L L]
— N\ I I
.f f .’ _.[l:400+-_
:": o2 i 7.gss_
: 1. 322% ] N 322" —

©

BAHAMA FRAME
SCALE: 1/2" =

"

THOLES ARE OPTIONAL
!
1

‘ —  |—202"
S
3
b — I f— -
ez |l fa— fa— (a—
# — D — -
/ t% ta
} hy 8%
A5 NS e
a - | Vs.t N
8 %4, 5 D & (— -
L b % g % ne — —
§ 8. %—_i’ [:cb — g
o )
i 5 o
N 1.000"
(Typ.)—]
— — — -
B e — fo—
— > (a— =
Y
Q' __{ ol [, 070"
f f
“—'7'725'—-‘

() SHUTTER BLADE

SCALE: 1/2" =

SHUTTER BLADE ELEVATION

SCALE: 1/2" =

G?) ALTERNATE BAHAMA

302"

3
8% —~il—.oss" :
%9 o
Ty 3 L )
] L ‘ [ T R.343
5
g R 2
- £
3 2 | R
I | 2. 2.969" | By,
2906 ' FE‘ 3.374"
3.311" ]

(D) FLAT FEMALE HINGE

SCALE: 1/2" = 1"

(©) 1” B. 0. FEMALE HINGE

SCALE: 1/2" = 1"

——1.500"——]

FRAME
SCALE: 1/2" = 1”

3.000"

e

3.000™

©) BUILD-0oUT

Alum. BRACKET
7" LONG
SCALE: 1/2" = 1”

= 1870 _
e 4
N
tg : “'
i
2.000" T - 187
(H) CORNER KEY (N) WALL MOUNT
1" LONG Alum. BRACKET
SCALE: 1/2" = 1" 7" LONG

SCALE: 1/2" = 1"

[ ~ "-.725"
4.000* §
-r )
.
J 7
® BuILD-0UT 3
SIDE_BRACKET 2.000"
7" LONG

COMPONENTS

Iw’ ;1953 o
F.B.C.(High Velocity Hurricane &one)
ASSA ,/ EXTRUDED BERTHA BAHAMA SHUTTER pRAlY v
/ ||L |E C O inc. \ SOUTHERN METAL PRODUCTS, LLC d/b/a 10/24/08
TILLIT TESTING & ENGINEERING COMPANY ALL BROWARD HURRICANE PANEL, INC. 4
6355 N.W, 36th. St, Ste. 305, VIRGINIA GARDENS, FLORIDA 33166 450 WEST McNAB ROAD
Phone : (Jas)an-msa Fax 1 (305)871-1531 FORT LAUDERDALE, FL. 33309 06-250
£8-0006719 PHONE (954) 247-3330 FAX (954) 247-3492
N\ WA,f-Lng,D':' [,/‘L:LI;; J;,’, 1;‘75 REV. No OESCRIFTION DATE | Rev. No DESCRIETION DATE DRAWING No
© 2004 TILTECO INC. ; oo — ;' - | SHEET 2 OF §




C/4 OR D/4 OR E/4 & OR C/4 OR D/4 OR E/4 ~IN A
bers ox os or i/ 5 Dug L0 ©cr pors ox o7s oF & , @ (GEHGLT | e o
D@ @ ©+® , ©+® D@ ¥ mags, RNIEE:
° ° ! \\ o / / // o o o \ o / ° ﬂD OR’@ % I
| / ] L Vvl
o e |
J’ . /@ + @\ l[ = f' |8
@ + @ | OR @ T =/
OR ' ] e A8 e
e f D00 i : 7 owogs be /€
{ x o o
® 0r © ]l (SEE SCHEDULE FOR ] (1410 x 117255, W DRD oR@ B i sh TR
REQUIRED AT REQUIREMENTS) [ sis. 10 QR MS. @ 3" 0.C. VERTICALLY
MIDSPAN, AT [ ] W/ 1/2" EDGE DISTANCE
i QUISIDE BRACKET ‘ ’ OR @ & .(92) T,g;o&x g0 10%4. 55
gggﬁﬁ%fﬂﬁl_?; FOR TRAPPED SECDETAUL 448 g Sek De Ak 270 (Tys. AT EACH BRACKET)
INSTALLATIONS == 2 i — = OUT SIDE BRACKET SECTION A-A
ol <] SMels & /7R S|\~ FOR TRAPRED
o E N alllef §, [ N e ) INSTALLATIONS (WALL MOUNT) SCALE : 3/8" = 1"
[ Aol 7T w T ol I | Y E D.
offie < 7 W F 11 I (3} GALR=IN ANCHORS |~ oo
= =12 | QST | e e
~ J | requiReD
~ T |- A % % 7
?)ROB Al A OR A OR A OR 2% 3 g{ozg;R(tf_Jax.)/////////////A ///////////,
o 0/‘? ! ga | Al A1 Alurm. ANGLE (Contt.) b
} ~\J } OR B OR } (5053_—75 ALLOY) 3/4!
NIT~—®r®
¢ - T
=T - - - L .
e 7 i3 o - 7] @ Vi a0 S
loi 7 = e —_— N A L] S. ® 37 0. C. VERTICALLY
L RN [l Lol W/ 1/2" EDGE DISTANCE
Lol i \ Lol ol \ o] oF (2) 410 x 1 1/27Ss,
Jjxa GHG)= = = e IS GR 6] o G P A i e
_______________ oy - OR
ALTERNATIVE OR @D ALTERNATIVE OR GD ECTION B—-B
D0 rpore| PO/4 OR O/4 OR £/4 ® o gomoeomer | | pos# or 0/4 oR £/4 SECTION-B=E
LOCATION W SEE SCHEDULE W SEE SCHEDULE W SEE SCHEDULE ~—————~ W SEE SCHEDULE — s e OR @ (EU/LD—OUT) SCALE - 5/8" = 1"
UNLIMITED WIDTH Se€ DETAIL (D N) OR @ NOTE:

E D =3 1/2" Min.

MULTIPLE UNIT El EVATIONS SINGLE UNIT (45 7 5o
N. T. S VERTICALLY W/ 1/2" EDGE
(D#10 x 1 1/2" SMS. FOR @ L(v;gzuicrs Job & Rgg}(‘g%u

or @ . (D10 x 1 1/2" SMS.

WISED
2 the Fiorida

06-1028.03
O3/ 0d 201V

(4) 3/16% Alum. or (42
POP RIVETS TOP/BOTIOM

FRONT/REAR _N

(3) CALK—IN ANCHORS
7 / (SEE SCHEDULE ON
L Lth / SHEET 9 OF §)
1) or @ : /—

]

TYPICAL AT
EACH CORNER.

| (D410 x 3/4" SMS.

/@ + @ . 1 Z
(1)#10 x 1_1/2" S.S. / *
sM.s. 10 QorR@ ' / T
0 L]
R GD e . smem. b e
) YREQUIRED T

|l —— (1)#10 x 3/4" SM.S. SECT/ON A 7 - A 7

3
(FLOOR/CEILING MOUNT) /
SCALE: 3/8" = 1" W

:«-W,L_,_a

WT 2 ¢ ope

—
W/ WEB NOTCHED = . . .
10 1.160" DEPTH S | (3) CALK-IN ANCHORS F.B.C.(High Veiocity Hurricane &one)
TO PENETRATE INTO = 7\ = (Tvp. EA. BRACKET)
~__ HEAD AND SiLL T T\ \4/ =4 ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRawh &t
(1410 x 3" SM.S. W/ WASHER F.P.
Tye. TOP & BOTTOM.
N 4 10 x 1 12" s / |||_|E C O ne. \ SOUTHERN METAL PRODUCTS, LLC d/b/a | 1o/2¢/06
C) or C) (Typ. EA. BRACKET) TILLIT TESTING & ENGINEERING COMPANY ALL BROWARD HURRICANE PANEL, INC. bare
I 3 u ) | M . ! 8355 N, 36th, S, Ste. 305, VIRGINI GARDENS, FLORIDA 33166 450 WEST McNAB ROAD
o 3 - s 3 3 | Phone : (305)871~1530 . Fax : (305)871-1531 FORT LAUDERDALE, FL. 33309 06—250
1/2 1/2 D ET A / L 7 1/2 1/2" EB~-0006719 PHONE (954) 247-3330 FAX (954) 247-3492
— o - WAﬁ[ggﬁq‘ Z‘L’.Ll;‘j;}”g7 E REY. No ol:;sc:;m:; DATE ntv;m DESCRIPTION DATE DRAWING No
: = ! - - = -
Ei1/27 =1 © 2004 TILTECO INC. 7 - - . . ——| SHEET J OF 9




POURED CONCRETE
REQUIRED \

TAPCON ANCHORS
(SEE_SCHEDULE ON

SHEET § OF 9) _X
C

I
I
l
|
I
I

:/— EXISTING GLASS

_/_FOR @
(1) 3/8" POWER

é7‘

E—lé%

4 ¥
(1) 3/8" FOWER BOL ui /
ANCHOR W/ 1 1/2"

Min. EMBEDMENT TO
POURED OR CONCRETE
BLOCK WALL.

SECTION C — C (wALL MOUNT)

ALTERNATIVE LOCATION

SO BOLT W/ 1 1/2" Min.
7 )N EMBEDMENT TO
% N POURED CONCRETE
L | REQ'D.

NON HURRICANE POSITION (74 m.p.h.
SCALE: 3/8" = 1"

:/_

l /:\

EXISTING GLASS

Min.

o

_3

3"

C

(1) 3/8" POWER BOLT W/.
1 1/2" Min. EMBEDMENT
TO POURED CONCRETE
BLOCK WALL.

|
J

ALTERNATIVE LOGATION
FOR @

| SO (1) TAPCON ANCHOR
s .  TO POURED CONCRETE
| ¢ Y REQD.
Lo_or=4
*| Min.

1/4"0-20x2"
LONG BOLT

© EACH JAMB
& MULLION
LOCATION

1/4" 9~20 THUMB SCREW
1/4" 8-20 BOLT W/NUT

WIND SPEED)

(2) 3/16"2 Alum.
POP RIVETS

1/4" 8~20 BOLT W/NUT

& MULLION

O
LOCATION

1/4° #=20 THUMB SCREW

1/4" 9—20 BOLT W/NUT

© EACH JAMB \

ALTERNATE SECT
NON HURRRICANE POSITION SCALE: 3/8" = 1"

POURED CONCRETE
REQUIRED

TAPCON ANCHORS
(SEE SCHEDULE ON

SHEET § OF 9) —l

C

1/4"

|

Va

,~—s’5£ SCHEDULE ON ~——~
SHEET 9 OF 9 FOR Min.
| SEPARATION TO GLASS

EXISTING GLASS' \E

I
; )

m or @ Cont. 5
Wi
POURED CONCRETE
CONCRETE BLOCK /
REQUIRED |
CEt=

— L4440

(3)F10 x 1 1/2" S.M.S.

(3) CALK—IN ANCHORS/BRACKET.

SECTION C = C (wALL MOUNT)

(SEE SCHEDULE ON SHEET § OF §)

7-J

{

\

\
AN

c

s

HURRICANE POSITION

(3)F10 x 1 1/2" SMS.

‘u Cont
/—@ .
OR GD
]
i

\® Cont.

(3)F10 x 1 1/2" S.M.5.

NOTE:
E D =3 1/2" Min.

— _C’ (wALL MOUNT)

N\

POURED CONCRETE

REQUIRED ———
TAPCON. ANCHORS

(SEE _SCHEDULE ON
SHEET & OF 8)

2" x 3" Max. x 125"

EXISTING
GLA

\@ OR @Cont

SSTI:
.

Cont. Alum. 8. O. TUBE DF14 x 3/4"
(g&J—%mALLOY) ————A—\—\ gffs @ s{o.c.
T R cot.
TAPCON ANCHORS A
e\ CETEH 2\ /5
— 4 & 1 Cont. — O\ in 1 T Cont.
E W— [: o — X st
Y N 0T H
N Cont. N A Cont.
N =10 v
N -
E D.> \ C < £ D \\ } e =
\ !
1 3,16 | i 3 3/16"
|
i/— EXISTING GLASS

SEE SCHEDULE ON—1}{
SHEET 9 OF 9 FOR Min.

| SEPARATION TO GLASS

|

SHEET § OF

\Q) OR @ Cont,

SEE SCHEDULE ON
9 FOR Min.
SEPARATION TO GLASS

—Q @

Cont,

\/\

A

/— 2 ]
w

Cont.

|
|
|
[
|
|
I
|
!
|

W

POURED
CONCRETE

BLOCK

OR CONCRETE [/
REQUIRED

E D

CE

(3) CALK~IN ANCHORS/BRACKET
(SEE SCHEDULE ON SHEET 9 OF )

T
11

)

N

v

e/

/—@ Cont.

OR GD

Cont. Cont,

ALTERNATIVE LOCATION
FOR

/ /(\\\
VTN

/—@ Cont.
OR GD
| Cont. Cont.
]
’_'_A_é [l ————@ Cont.

| ¢
’_ﬂ ) < > Cont. E D. ben L
|

1NN

A

SECTION D —
HURRICANE POSITION

D

TAPCON ANCHORS
© 5" 0 C

\——(3)in x 1 1/2" SMS.

e

1" x 1" x 125" Cont,
Alum. CLOSURE ANGLE
(5063~T6 ALLOY) W/

POURED CONCRETE

OR
CONCRETE BLOCK
REQUIRED

N L
1

|
o

=

3/16" @ Alum.

POP RIVET
@ 12" 0.C. roéo;? ()

(BUILD-0UT)

2" x 3° Max, x .125"
Conl. Alum. B. 0. TUBE /
(6063~T6 ALLOY)

SECTION E - E

HURRICANE POSITION

SCALE: 3/8" = 1" SCALE: 3/8" = 1", 085"~ [125 SCALE: 3/8" = 1"
8 7T 7
050" (Typ.) (049" () s 3 %Iﬁ% _f 3
g g e 54
5 = . '
775 ) Lﬁo_“J § L——?.?EO"—J
(K) .875" SERRATED TUBE (L) 1~ T (W) CAMEL BACK HINGE
INSIDE ARM OUTSIDE ARM 3003-H14 Alum. ALLOY
6063-T6 ALLOY 6063~T6 ALLOY A
SCALE : 3/8" = 1" SCALE : 3/8" = 1" SCALE ; 3/8" = 1

| (1)f14 x 3/4" SMS.

(BUILD-0OUT)

F.B.C.(High Veiocity M urricane &one)

:

(3)F10 x 1 1/2" 5.MS.

1" x 1" x .125" Cont. Alum.
CLOSURE ANGLE (6063~T6 ALLOY)
ALLOY) W/ 3/16" @ Alum.

POFP RIVET @ 12" 0.c. TOG)OR @)
(2) 1/4" 920 x 1" SIDE WALK
BOLTS INTO (2) 1/4" #-20
RIVWUTS EACH

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRats BY:
/ ||L I ECO e \ SOUTHERN METAL PRODUCTS, LLC d/b/a 10/24/08
ATE
TILLIT TESTING & ENGINEERING COMPANY ALL BROWARD HURRICANE PANELJ INC.
8355 N.W. J8th. St, Ste. 305, VIRGINIA GARDENS, FLORIDA 33166| 450 WEST McNAB ROAD
Fhone : (305)871-1830 . Fox : (308)871~1531 FORT LAUDERDALE, FL. 33309 06—-250
EB-0006719 PHONE (954) 247-3330 FAX (954) 247-3492
mﬁ[gﬁ,& Zﬁ“} '1;11'2‘75 RV, No DESCAIPTION oare | nev. Mo DESCRIPTION DATE DRAWING No
OLD 03-024 - - -
© 2004 TILTECO INC. ; - - : - ——| SHEET 4 OF 9




POURED CONCRETE

&
[ﬂl’ F/6 5) o @ REQUIRED -———\
AAOAONANANAA N AN AN YA VAN \\\\\//\\\\\\\\\\\\\\
[ /
/[ /Z
®+© 7
OR 7
e :
REQUIRED T <
AT MIDSPAN AT / @ REQUIRED
SIDES (SEE / AT MIDSPAN AT
SCHEDULE FOR .| / SIDES (SEE_SCHEDULE
REQUIREMENTS) ' FOR REQUIREMENTS) |
A —SEE _DETAIL 3/ - SEE DETAIL 376 — N 3
P F UIREMEN / 2
/ o \‘/ \\I, [} .\\ Li'
—— Y . \\ ﬁ
XA - ‘\_oi,% 8
G/6 -1 T 6/6 |,
rd N $
3
%
N S
i)
i i 0 g
S o e o et S -~
[o] [} o \‘ o . Eé\ o o [} o \'
LTSIV T 77T AN 777 /W_ (L1770
p s OO L5t el Wi
orR @D WulLion Locarion = FACH INTERIOR SEE DETALL 1
W (SEE SCHEDULE) W (SEE SCHEDULE) W (SEE SCHEDULE)
UNLIMITED WIDTH

(4) 3/16" & Alum.
POP RIVETS TOP/BOTTOM

FRONT/REAR

MULTIPLE UNIT

ELEVA

[IONS

N T S

brre

POURED CONCRETE

«©

REQUIRED ————
SOOUN N NN NN NN ANAVANAN
®+©
RGO : DE;
: D@
REQUIRED //
AT MIDSPAN AT f
REQUIREMENTS) ~ | — 'g,zk’%’of;&’-v AT Q
e wmr SCHEDULE FOR 2
7_ =~ o REQUIREMENTS) %
\ ) 0
ﬁ o ! { 0. 1} W
S A ’ T K
G/ -t I~ 66 .
4 A AN / -
3
&
N N
4
e - — —— — —_—_—— — — — ’L o
SRS SX

R e e o AN,

W/ WASHER

Z@ W/ WEB NOTCHED
TO 1.160" DEPTH
(1)#10 x 3" S.MS.

TO PENETRATE INTO
HEAD AND SILL.

Typ. TOP & BOTTOM,

DETAIL 1

SCALE : 1/2" = 1"

1/4" 8-20 SIDE WALK
OLTS INTO RIVNUTS EA.

@ 12% 0.C

(1)#10x 1 1/2" S.M.S.

x 1»

TYPICAL AT
EACH CORNER.

|~ (1410 x 3/4" SM..

:F(./®+@

OR GD

|l (1)#10 x 3/4" S.MS.

D rse

W (SEE SCHEDULE)

SINGLE UNIT

fines Lontoal

F.B.C.(High Velocity Hurricane &one)

/TiIECO me \

Rt S

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J6th. 5, Ste. 305, VIRGINA DENS, FLORIDA 33166
Phone @ (305)871~1530 . Fax : (305)871-153!

WALTER A TILUT Jr., P. E.
FLORIDA Lic. §# 44167

© 2004 TILTECO INC. 7

EB-0006719

4

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER oRARe B
SOUTHERN METAL PRODUCTS, LLC d/b/a 10/24/06
ALL BROWARD HURRICANE PANEL, INC. DATE

FORT LAUBERDALE, FL. 33308
PHONE (954) 247-3330 ' F;4X (954) 247-3492 DORfV_/;Ai‘SNOO
REV, Ko DESCRIPTION DATE REV, No DESCRIPTION DATE
L oL aron = = - “— SHEET 5 OF 9




POURED CONCRETE
REQUIRED D) cont.
TAPCON ANCHORS \
(e ScHeDuLE o )
SHEET & OF 9)
\\\ Q \ F) cont.
Cont.

EXISTING

GLASS .\’
|

l
I
I
I
|
|
i
|

I

| SEE SCHEDULE ON
SHEET 9 OF § FOR__ |
l_ MIN. SEPARATION
TO GLASS

!

!
!
I V-
l
|

| 144" o=20 iy @
XA 144" p-20

FULL
ILENGTH ?ioc,qrs ALWAYS
AT LEAST TWO BOLTS 1"
|AT EACH SIDE OF INTERIOR,
| MULLION. SEE ELEVATION |
ON SHEET 5 OF 9 FOR
| BoLT Larour).

|
i nsarm |

| T =l
| Cont. = [
|
1 : N
//:

POURED
CONCRETE
REQUIRED

/ o e

|
ALK—IN ANCHORS /| p———t. D
'SEE. SCHEDULE ON Iu z;
SHEET 9 OF §) /

SECTION F — F

HURRICANE POSITION
SCALE: 3/8" =

(TRAPPED MOUNT)

(3) 1/4” 20 x 2" S.S.
MS, W/ 7/8" x 3/32"
WING NUT '@ 3" 0, .
VERTICALLY W/ 1/2" EDGE
DISTANCE TOP & BOTTOM
(Typ. AT EACH BRACKET)

O*@

Q% ok ™

SECTION
(TRAPPED MOUNT)

HURRICANE POSITION

SCALE: 3/8" = 1"

G

NOTE:

=3 1/2" Min.

(3) CALK—IN ANCHORS
(SEE SCHEDULE ON
SHEET 8 OF 8)

POURED CONCRETE
OR CONCRETE BLOCK
‘ REQUIRED

ELI

N
7 ™
_j \~/
]
1l ®«x0
SN(@:
T (3) CALK—IN ANCHORS
" (Typ. EA. BRACKET)
o
\_ ) .
N
\ _L}
D = (Op10x 11/2° SHS,
He - 374 L (Typ. EA. BRACKET)

1 it

SCALE : 1/2" = 1"

D= A !
DETAIL 2 WALL MOUNT.

(3) CALK—IN ANCHORS
(Tvo. EA. BRACKET)

(3) 1/4" 220 x 2" 5. S.
M s ws 7/8" x J/JZ
WiING NOT & 3"
VERTICALLY W/ 1/2 EDGE
DISTANCE TOP & BOTTOM
(Tvp. AT EACH BRACKET)

DETAIL 3 TRAPPED

SCALE :

1/2" = 1"

F.B.C.(High Velocity Hurricane Zone)

/TiLIECO me. \

Phone : (J05)571 1830 . Fox ! (JOS)H?I 1831

T E8~0006719

. \5 WALTER A, TILLIT Jr, P. E.
FLORIDA Lic. # 44167

© 2004 TILTECO INC.

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W, Joth. St, Ste. 305, VIRGINA GARDENS, FLORIDA 33165

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DReys B
SOUTHERN METAL PRODUCTS, LLC d/b/a 10/24/06
ALL BROWARD HURRICANE PANEL, INC. DATE

450 WEST McNAB RO;gJog
FORT LAUDERDALE, FL. _
PHONE (954) 247-3330 FAX (954) 247-3482 06-250
REY. No DESCRIFTION DATE REV. No DESCRIPTION DATE DRAWING No
o0 ooz - 2 - —— SHEET 6 OF 9

2 - - 4 -




\ 1/4" 8 LAG SCREWS @ 6" O. C.
] W_1 1/2" Min. THREADED
e PENETRATION TO' EXISTING
WOOD HEADER.

[ " B Cont,

Tor

F Cont.

& x
3 E Cont.
N .

|) or @ Cont.

WO0D HEADER REQUIRED

- EXISTING GLASS

A
i
(2) 3/16" @ Alum.
POP RIVETS
6 Cont
--:a—r.
e (N) o=
§
* : @ Cont.
N"
F \ ; @ EACH JAMB &
‘T_ ‘ { (/ AN
L 1/4” 8-20 THUMB SCREW
1/4" 8-20 BOLT W/NUT
(2) 1/4" @ LAG SCREW

1
AT EACH STUD (MIDWIDTH OF STUD,
gogg”s(;u%_ 2" Min. NOMINAL) AND W/ 1 7/2" Min,
REQUIRED TI;_EEADED PENETRATION INTO EXISTING

: (74 m.p.h. OR LESS WIND SPEED)
SCALE: 3/8" = 1"

EXISTING GLASS

EXISTING GLASS ——

L_1 /2"

Y 1/4" @ LAG SCREWS @ 6" O. C.
W 1 1/2" Min. THREADED

PENETRATION TO EXISTING

WOOD HEADER,

WOOD HEADER
REQUIRED

SEE SCHEDULE
ON SHEET 8 OF 8
— FOR MIN.
SEPARATION
TO GLASS

SPAN L™

)

Max.

MULLION LOCATION

IR 20w | s

A

ALTERNATIVE 1

HURRICANE POSITION
SCALE: 3/8" = 1"

(DF10 x 1 1/2" SMS.

(3) 1/4" 8-20 ELCO
male/female PANELMATE
W/ 1 7/8" MINIMUM
PENETRATION AT MIDWIDTH
OF EXISTING WOOD PLATE

-

WOQD HEADER
REQUIRED

SEE SCHEDULE
ON SHEET 9 OF 9

TO GLASS

FOR MIN. SEPARATION ([N

1/4" ® LAG SCREWS @ 6" 0. C.

W 1 1/2° Min. THREADED
PENETRATION TO EXISTING
WOOD HEADER.

-Max.

A4,

Cont, Cont,

1" x 1" x 125" Cont,
Alum. CLOSURE ANGLE
(6063-T6 ALLOY) W/
3/16" @ Alum. POP
RIVET @ 12" O.C.

70 @ OR G

£Q EQ

(3#10 x 1 1/2" 5. M. S.

£Q

£Q

(3) 1/4" 9-20 ELCO mole/female
PANELMATE W/ 1 7/8" Min,
PENETRATION AT MIDWIDTH

OF EXISTING WOOD PLATE

ALTERNATIVE 2

HURRICANE POSITION
SCALE: 3/8" = 1"

1/4" @ LAG SCREWS ® 6" 0. C.
W 1 1/2" Min, THREADED
PENETRATION TO EXISTING
WO0D HEADER.
2" x 3" x .125" Cont
Alum, TUBE

(6063~T6 ALLOY)
#14 x 374"
5 M

6" 0. C

WO0D HEADER
REQUIRED

OR

a
SEE SCHEDULE
° EXISTING ON SHEET 9 OF 9 Cont.
g GLASS FOR MIN. SEPARATION
& -\ 70 GLASS

#14 x 3/4" SMS

6)
I
l"]L..l[‘ D == :
e A v I 1" x 1" x 125" Cont. Alum.
[— E::E]T CLOSURE ANGLE (6063~T6 ALLOY)
I W/ 3/16° 9 Alum. POP RIVETS
L “E 4 \ @ 12" 0.0 TOGQORGCD .
4 \ NS (2) 1/4" #-20 x 1" SIDE WALK
\ BOLTS INTO 1/4% 8-20
: ‘? RIVNUTS EA,

V

2" x 3" Max, x .125" Cont Alum.
B. 0. TUBE (6063~T6 ALLOY)

1/4" @ LAG SCREWS @ 6" 0. C.

Y

\\\

W/ 1 1/2" Min. THREADED

PENETRATION TO EXISTING WOOD
PLATE,

ALTERNATIVE 3
HURRICANE POSITION
SCALE: 3/8" = 1"

2 s eeigll
Cont. BT
o (2) 3/16" 8 Alum. WALL MQUNTING INSTALLATION —QUT
POP RivETS 06-)024.03
@ OR @ ~X 1/4" 8-20 BOLT W/NUT ~ SECTION A c©375& o1
= . YN B o INSTALLATION DETAILS ON_EXISTING WOOD BUILDINGS A~
N B Bk Contrab
& A4l i)
3 il or () cont. | NOTES :
N )
RATION INRR EXISTING 1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS . . .
\ LESS OR EQUAL THAN +62.0, —75.0 p.s.f. AND Max. SHUTTER SPAN AS F.B.C.(High Velocity Hurricane Zone)
i B PER SCHEDULES ON SHEET 8 OF 8. DRAWN BY:
1S [\ O 2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH ASSA / EXTRUDED BERTHA BAHAMA SHUTTER e
L = S 3 ;%RZ Ak'inwo(('SD %A%'E%Zﬁ %yg%NOF 000505 MEMBERS TO BE SOUTHERN —
- N 5 W
N NG sl o EACH JiMz & PINE ‘No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. l IL l ECO - SOUTHERN METAL PRODUCTS, LLC d/b/a | 10/24/06
THUME SCREW ALL BROWARD HURRICANE PANEL, INC. bATE
NN 1] & » TILLIT TESTING & ENGINEERING COMPANY
s /4" a-20 BoLT W/ 0 Ul 20, i el UG, L S8 FORT LAUDERDALE, FL. 33308
#ooo,sTuo (2) 1/4" 8 LAG SCREW £8-0006719 PHONE (954) 247~3330  FAX (954) 247-3492 06-250
e © AT EACH STUD (MIDWIDTH OF STUD, NE POS/ / WALTER A, TILLIT Jr., P, E. DRAWING No
?H R% Egogl:l'hh’lAé)R :#gNV%T(; ,L_%f-m%" ALTERNATE NON HURRICANE POSITION DETAIL FLORIDA Lic. §# 44167 REV, No oogc::n:; DATE m;m DESCRIPTION DATE
3 no_ i ' . - - -
STUB. SCALE: 3/8" = 1 © 2004 TLTECO INC. L = — > - —1 SHEET 7 OF 9




-

-~

WOOD HEADER
REQUIRED

Cont.

LD
Min

Cont.

[l d)

Cont.

1/4" ¢ LAG

SCREWS © 6" 0. C.

W/ 1 1/2" Min.

THREADED PENETRATION

SEE SCHEDULE
.} Ov SHEET 9 OF ¢

FOR MIN. SEPARATIO
T0 GLASS

SPAN L™

Max.

1,

-

w/

REQUIRED

W/ 1 1/2" Min.
THREADED PENETRATION.

ALTERNATIVE 4A

1/4" 9-20 RIVWWUT @ 8" O, C.
1/4" #-20 x 2" S. S. M. S.
I~ FULL LENGTH (LOCATE ALWAYS

i— 2" x 6° WOOD DECK

WOOD TRUSSES OR RAFTER
© 24" 0. C. REQUIRED

2"

x 4" WooD STUDS
:‘(?fOU)IRED @ CORNER

(3) 1/4" 9 ELCO female

——@ Cont,

——— 5" x 3/16" Min.
4 Alum, PLATE Cont.
(6‘06‘.!-T5 ALLOY) W/

(2) 5/16" # LAG

9 OF 9 FOR MINIMUM
SEPARATION TO GLASS

[~SEE_SCHEDULE ON SHEET

LOCATE SCREW AT
MIDWIDTH OF EXISTING
WOOD MEMBER (2" Min.
NOMINAL WIDTH) W/
2" Min. THREADED
PENETRATION.

SPAN ‘L™

Max.

Als

?

/X

AT LEAST TWO BOLTS
BOLT LAYOUT)

2" x 6" WOOD DECK

:— REQUIRED

|

AT LEAST TWO BOLTS 1% AT EACH IR

SIDE OF INTERIOR MULLION. SEE N

ELEVATION ON SHEET 5 OF 9 FOR Q

BOLT LAYOUT) =
1
]

*"i \74 2 LAG

scm:ws ® 6" 0. C
W/ 1 1/2" Min.
THREADED PENETRATION.

ALTERNATIVE 48

FLOOR/CEILING MOUNTING INSTALLATION

— SECTION A

SCALE:

/4" = 17

PANELMATE W/ 1 7/8" Min
THREADED PENETRATION.

3/16'" [4

SCREWS TO EACH JOIST.

OR @ 5. S.S.
10 (DOR

— SIDE OF INTERIOR MULLION. SEE
ELEVATION ON SHEET 5 OF 9 FOR

i S T S

/-—-— EDGE DISTANCE IF APPLICABLE.

70x11/
. M. S. 10 OR

# 10 x 1/2

—]

POP RVET © ~Cb

6" 0. C. (1 PER BLADE)
© REAR ONLY

2" MinA

SECTION A—A
(WALL MOUNT)

SCALE : 1/4" =

1/4" 9-20 RIWUT ® 9° 0. C.
W/ 1/4" =20 x 2" S. S. M. S.
FULL LENGTH (LOGCATE ALWAYS

17 AT EACH
(Typ.)

WING NUT @ 3" O,
VERTICALLY W/ 1/2"

DISTANCE TOP & BOTTOM
(Typ. AT EACH BRACKET)

o Wit

3) 1/4" ¢ ELCO femala
ANELMATE W/ 1 7/8" Min.

THREADED PENETRATION.

@jS‘S

»

2" x 4" WQOD STUDS
REQUIRED @ CORNER

EDGE

1
A
o

(3) 1/4* 9~20 RIVNUTS W/

(3) 1/4" #-20 x 1.1/2"5. S.
M. S ® 3" 0. C. VERTICALLY

W/ 1/2" EDGE DISTANCE
OR (2) £10 x 1 1/2"

S. TOP & BOTTOM
(Typ 'AT EACH BRACKET)

() orR GD

16"
0.
REA

(3) 1/4" 8 ELCO femgle
PANELMATE W/
THREADED PENETRATION.

2" x 4*
REQUIRED © CORNER
(Typ.)

WOOD STUDS —~_|

2" Min.

1 7/8" Min.

OR@

|

OR@

SECTION B-B

(WALL MOUNT)
SCALE : 1/4" =

1

SECTION G—G
(FLOOR /CEILING MOUNT)

SCALE

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTES

PER SCHEDULES ON SHEET 9 OF 9.
19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55.
PINE No.

1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS
LESS OR EQUAL THAN +62.0, =75.0 p.s.f. AND Max. SHUTTER SPAN AS

2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

wrm s

7/411 -

'

F.B.C.(High Velocity Murricane &one)

,§74x.3/4 ss

f| ,

»

2" x 3 3/16" (Max.)
X 1/8" CLOSURE
Alum. ANGLE (Cont.)

(3) 1/4" #-20 RIVNUTS W/
(3) 174" #-20 x 1 1/2"'S. s.
s @ 3" 0. C. VERTICALLY
W/ 1/2" EDGE DISTANCE

OR (J) #10 x 1 1/2*

S. .M. S. TOP & BOTTOM
(Typ "AT EACH BRACKET)

/TiLIECO me. \

Fhone :

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J8th, St, Ste. J05, VIRGIMA GARDENS, FLORIDA 33166
(305)871-1530 . Fox : (J0S)B71~1531

£B-0006719
WALTER A TILLIT Jr., P. E.
FLORIDA Lic. § 44167

© 2004 TILTECO INC.

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRAMN BY:
SOUTHERN METAL PRODUCTS, LLC d/b/a 10/24/06
ALL BROWARD HURRICANE PANEL, INC. oaTe

o o pese o,
PHONE (954)F02i7—3330 ' F;4X (954) 247-3492 23;/7N205N00
RIV. Mo DESCRIPTION DATE REY. No DESCRIPTION DATE
oLb 93024 - H = ~] SHEET 8 OF 9

2

4 -




SCHEDULE # 1

MAXIMUM SINGLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

"SINGLE_UNIT ELEVATION
CASE | : WALL + WALL MOUNT CASE Il : TRAPPED TOP/BOTTOM
OR TRAPPED AT SIDES + SIDES (SHEET 6 OF 9)
(SHEET 3 OF 9)
BAHAMA SIDE BRACKET SIDE BRACKET %
SHUTTER p) =~ 7 1 N = — 1
TYPE & &
Q%LWSTE SIDE | ? ?
o —w—
DESIGN MAXIMUM SPAN "L” (IN)
PRESSURE
RATING (p.s.f.) | waxmuM uNIT MINIMUM SEPARATION
| AND. CASE A | Wi oy | W0 SIDE BRACKET | W/ SIDE BRACKET |VIVIOY SERARATION|
CASES | & I
+56.0 , —63.0 42" 52" N/A 3 1/8"
CASES | & Il ,
+75.0 , ~100.0 42 N/A 96" 2 1/8

SCHEDULE # 2

SCHEDULE # 1A

MAXIMUM MULTIPLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

MULTIPLE UNIT ELEVATION

CASE Il : TRAPPED TOP/BOTTOM

CASE 1 ?&:‘:{ggp‘g%;/ﬁogggs + SIDES (SHEET 6 OF 9)
@) or G—_| @) orR @—_
SIDE BRACKET SIDE BRACKET
BAHAMA () ——~ L L (Typ.) =~ ! i}
SHUTTER ] 1
TYPE ke — S N
] =||==—=I700
e f—rf— me] e ]
gl gt
DEES_’SC;”L o MAXIMUM SPAN "L” (IN)
PR
RATING (p.s.f.) | wmaxmum uNIT INTERIOR MULLION  |MINIMUM SEPARATION
AND CASE # | wipt "w” () | W/0 SIDE BRACKET | W/ SIDE BRACKET | ‘rypr pQUIRED |70 GLASS (IN)
CASE | ‘ ] ]
+50.0 , ~43.3 36 1/2" 72 1/2 N/A Al 2 1/2
CASE | ] ]
+£62.0 , ~75.0 36 1/2" N/A 83 A2 2 3/8
CASE 1! ] ]
+62.0 , -75.0 36 1/2" N/A 84 A2 2 3/8

LIMITATIONS FOR SINGLE AND MULTIPLE UNITS BAHAMA SHUTTER’S UNIT WIDTH (IN), SPAN L (IN) AND

CORRESPONDING MAXIMUM DESIGN PRESSURE (p.s.f.) FOR THE INSTALLATION OF SIDE & SILL BRACKETS

INTO CONCRETE & MASONRY BUILDINGS BY MEANS OF (3) 1/4” @ x 7/8” CALK—IN ANCHORS *

MAXIMUM NEGATIVE

SINGLE UNITS

MULTIPLE UNITS

SIDE & SILL BRACKETS **

SIDE & SILL BRACKETS **

DESIGN PRESSURE
RATING (p.s.t.) TO CONCRETE TO BLOCK TO CONCRETE TO BLOCK
Max. "W" Max. "L” Max. "W" Max. "L" Max. "W" Max. "L” Max. “W” Max. "L”
-55.7 42" 96" 42" 96" 36 1/2" 84" 36" 84"
65.0 42" 96" 42" 96" 36 1/2" 84" S 72”
: / = =
" " ” ” » M 36 172" 62"
-75.0 42 96 42 96 36 1/2 83 27" 83"
—-83.0 42" 96" 42" 96" N/A N/A N/A N/A
" " 42" 63
-100.0 42 96 36" 73 N/A N/A N/A N/A

SCHEDULE # 3

MAXIMUM ANCHOR SPACING AT TOP FEMALE HINGES B, ©, OR @ AS

WELL AS SILL ANGLE @ AT BOTTOM (AS APPLICABLE) FOR INSTALLATIONS

INTO POURED CONCRETE HEADERS AND SILL ***

DESIGN PRESSURE
RATING (p. s. f.)

SINGLE & MULTIPLE UNITS

TOP & BOTTOM TO

CONCRETE

ALL PRESSURES COVERED
IN SCHEDULE # 1 & # 1A

9" 0.C. TOP & 7" 0.C. BOTTOM.

¥  FOR ELCO PANELMATES ((3) 1/4” 2 W/ 1 7/8" PENETRATION) USED AT SILL & SIDE BRACKETS FOR INSTALLATIONS INTO WOOD. SEE SCHEDULES # 1 & # 1A FOR SHUTTER SIZE.

*kxk

IN ANY CASE, MAXIMUM "W” & "L” VALUES W/ CORRESPONDING DESIGN LOADS SHALL NOT EXCEED MAXIMUM VALUES INDICATED ON SCHEDULES # 1 & 1A,

F.B.C. (”/'qh Veiocity Hurricane Zone)

X*kK SEE SHEETS 7 & 8 OF 9 FOR ANCHOR SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

AR

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DR &
/ |||_ ' ECO inec. \ SOUTHERN WETAL PRODUCTS, LLC d/b/a | io/zssce
LT TESTING & ENGINEERiNG cowrany |  ALL BROWARD HURRICANE PANEL, INC.
£355 N.W. J6th. S, Ste. 305, VIRGINM GARDENS, FLORIDA 33166 450 WEST McNAB ROAD
= —'*—-.?N Phone : (305)871~1830 . Fox : (305)871-1531 FORT LAUDERDALE, FL. 33309 06250
RS EB-0006719 PHONE (954) 247-3330 FAX (954) 247-3492 "
AR WA,_L-[gg,Dfé E(L_.U;J;},Q}E REV. No DESCRIPTION DATE | #ev. Mo DESCRIPYION DATE DRAWING No
BRI Arine ' LD 03-024 - 3 - =
o S © 2004 TILTECO INC. L - = : ~ ——| SHEET S OF S




